Table 1	le 1. Annual Reporting Burden 2019-2021 (CURRENT REQUEST)							Annual Reporting Burden in ROCIS (2016-2018)						BURD	EN CHANGI		
Section	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	Cost @ \$275/hr		No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Burden (Hrs)
71.5(b)	1	1	. 1	100	100	\$27,500	71.5(b)	0	0	0	100	0	1		1	0	100
71.7(b)	5	1	. 5	1	5	\$1,375	71.7(b)	5	1	. 5	1	5	0		0	0	0
71.12	1	1	. 1	300		\$82,500		1	1	. 1	. 300				0	0	0
71.17(c)(3)	25	1	. 25	1	25		71.17(c)(3)	25		. 25		25			0	0	0
71.31	25	2	50	300	15000	\$4,125,000		25	1	. 25	300	7500			25		7,500
71.33							71.33						0		0		0
71.35			Included in	71 31			71.35		Incli	uded in 71.31			0	0	0	0	0
71.37(a), (b), & (c)							71.37(a), (b), & (c)		mon	adca III 71.01			0		0	0	0
71.38 (c)	25	2	50	80		\$1,100,000	71.38(c)	25	2	50			0	0	0	0	0
71.39	25	2	50	110	5,500	\$1,512,500	71.39	36	2	72	110	7,920	(11)	0	(22)	0	(2,420)
71.41(a)&(d)			Included in	71.31			71.41(a)&(d)		Inclu	uded in 71.31			0		0	0	0
71.47(c)	Burden cov	ered under De	partment of Tr	ansportation	clearance #2	137-0150	71.47(c)	den covered ur	nder Departmei	nt of Transpor	tation cleara	nce #2137-03	0	0	0	0	0
71.87 (f)			Included in	71.31			71.87(f)		Inclu	uded in 71.31			0		0		0
71.93(c)	1	1	. 1	1	1		71.93(c)	1	1	. 1	. 1	1	0		0	0	0
71.95	25	1	. 25	24	600	\$165,000	71.95	25	1	. 25	24	600	0	0	0	0	0
71.97(a), (b), (c) & (d)	7	2	14	0.9		Ψ3,403	(c) & (a)	7	2	2 14	0.0		0	0	0	0	0
71.101 (c)	2	1	. 2	120		\$66,000	71.101 (c)	2	1	. 2	120	240				0	
71.101(f)	2	1	. 2	1	2	\$550	71.101(f)	2	1	. 2	2 1	2	0	0	0	0	0
71.103-71.105	Included in 71.101 (c)						71.103-71.105		Includ	led in 71.101(c)		(2)	0	0	0	0
71.106(a)	6	1	. 6	25	150	\$41,250	71.106(a)	6	1	. 6	25	150	0	0	0	0	0
71.106(b)	50	1	. 50	1	50	\$13,750	71.106(b)	50	1	. 50	1	50	0	0	0	0	0
71.107-71.137	Included in 71.101 (c)						71.107-71.137	Included in 71.101(c)					0	0	0	0	0
Appendix A, II.(c)	25	0	0	20	2	\$550	Appendix A, II.(c)	0.1	1	. 0.1			25	(1)	(0)	0	0
TOTAL			282.0		25987.6	\$7,146,590	TOTAL			278.1		20807.6	0	0	4	0	5,180

T.85(c)	Table 2. Anni	ual Recordkeepin	g Burden 2019-2	021 (CURRENT R	EQUEST)				i	BURDEN CHANG	GE
T1.85(c)	Section		Annual Hrs. Per Recordkeeper	Recordkeeping	Cost @ \$275/hr	B	Per	Recordkeeping	December	Per	Recordkeeping
71.87(e) & (f)	71.19(a)(3)	0	0	0	\$0	0	0	0	0	0	0
71.91(a) 200 20 4000 \$1,100,000 20 20 4,000 0 0 0 0 71.91(b) & (c) 20 18.5 370 \$101,750 30 18.5 555 (10) 0 (185) 71.91(d) 200 0.5 100 \$27,500 200 1 100 0 0 0 0 71.95(a)(1) No recordkeeping requirements (included on reporting table) No recording table) No record under Section 71.91(d) Burden covered under Section 71.91(d) Burden covered under Section 71.91(d)	71.85(c)		Included i	n 71.91(d)		Ir	cluded in 71.91(d)		included in 71.91	(d)
71.91(b) & (c) 20 18.5 370 \$101.750 30 18.5 555 (10) 0 (185) 71.91(d) 200 0.5 100 \$27.500 200 1 1 00 0 0 0 0 71.95(a)(1) No recordkeeping requirements (included on reporting table) No recordkeeping requirements (included on reporting table) No recordkeeping requirements (included on reporting table) 17.197(c)(4). (e) & (f) 8urden covered under Section 71.91(d)	71.87(e) & (f)	0	0	0	\$0	0	0	0	0	0	0
71.91(d) 200 0.5 100 \$27,500 200 1 100 0 0 0 0 0 0 0	71.91(a)	200	20	4000	\$1,100,000	200	20	4,000	0	0	0
71.95(a)(1) No recordkeeping requirements (included on reporting table) 71.95(a)(2) No recordkeeping requirements (included on reporting table) No recordkeeping requirements (included on reporting table) No recording keeping requirements (included on reporting table) 0 0 0 0 71.97(c)(4), (e) & (f) 71.101-71.137 Burden covered under Section 71.91(d) Burden covered under Section 71.91(d) Burden covered under Section 71.91(d)	71.91(b) & (c)	20	18.5	370	\$101,750	30	18.5	555	(10)	0	(185)
71.95(a)(2) No recordkeeping requirements (included on reporting table) reporting table) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	71.91(d)	200	0.5	100	\$27,500	200	1	100	0	0	0
71.97(c)(4), (e) & (f) 71.101-71.137 Burden covered under Section 71.91(d) Burden covered under Section 71.91(d)* Burden covered under Section 71.91(d)	71.95(a)(1)	No re	cordkeeping requi	rements (included	on reporting table)	No recordingke	eping requireme	nts (included on	0	0	0
71.101-71.137 Burden covered under Section 71.91(d) Burden covered under Section 71.91(d) Burden covered under Section 71.91(d)	71.95(a)(2)	No re	cordkeeping requi	rements (included	on reporting table)		reporting table)		0	0	0
TOTAL 220 4,470 \$1,229,250 250 4,655.0 (30) (185)	71.97(c)(4), (e) & (f) 71.101-71.137	В	Burden covered un	der Section 71.91(d)	Burden cov	ered under Section	on 71.91(d)*	Burden co	vered under Sect	tion 71.91(d)
	TOTAL	220		4,470	\$1,229,250	250		4,655.0	(30)		(185)

Table 3	. Annual Third	Party Disclosu	re Burden 201	9 - 2021 (CURR	ENT REQUEST)		Annua	l Third Party Di	sclosure Burde	en in ROCIS 201	16-2018	BURDEN CHANGE				
Section	No. of Respondents	Response per Respondent		Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	Cost @ \$275/hr	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)
71.19(a), (b), & (c)	Included in 71.85							I	ncluded in 71.8	5		Included in 71.85				
71.22(d)		Burden covered under Section 71.85(c)							ered under Sect	on 71.85(c)		Burden covered under Section 71.85(c)				
71.23(d)	Burden covered under Section 71.85(c)							Burden cove	ered under Sect	on 71.85(c)		Burden covered under Section 71.85(c)				
71.47(c)	Burden covered under Section 71.31							Burden co	vered under Se	ction 71.31		Burden covered under Section 71.31				
71.85(c)	25	4	100	1	100	\$27,500	25	4	100.0	1	100	0	0.0	0	0	0
71.87	25	1	25	1	25	\$6,875	25	1	,25	1	25	25	0		0	0
71.89	Burden covered under under Department of Transportation's OMB Clearance No. 2137-0150								epartment of 11 No. 2137-0150		JVIB Clearance	Burden covered under under Department of Transportation's OMB Clearance				
71.97(a), (b), (c), (d), (e) & (f)	7	1	7	0.9	6.3	\$1,733	7	1	7	0.9	6	7	1	7	0.9	6.3
71.129(a)	0	0	0	0	0	\$0		Previously inclu	ided on the reco	rdkeeping table		C	0	0	C	0
TOTAL			132		131.3	\$36,108			132		131			7		6.3

	TOTALS FOR P	ART 71 RENEW	AL (2019-2021)	TOTAL FOR PART	Г 71 (2016-2018)	BURDEN CHANGE		
	Responses	Burden	Cost at \$275/hr	Responses	Burden	Responses	Burden	
Reporting	282	25987.6	\$7,146,590	278	20807.6	3.9	5,180.0	
Recordkeeping	220	4,470.0	\$1,229,250	250	4,655.0	(30.0)	(185.0)	
Third Party Disclosure	132	131.3	\$36,108	132	131.3	0.0	0.0	
TOTAL	634	30588.9	\$8,411,948	660.1	25593.9	(26.1)	4,995.0	

Licensee storage costs \$ 492

NRC staff time \$ 4,455,000 NRC report processing \$ 928,125 TOTAL costs to Fed gov't \$ 5,383,125